2019 It
AAFC OfZl0| = HAE|H CHEIE(GGE 12¥)

27 Azt ==
= ==
187] 09:00~09:12 1 %S %t - Z=Al =%
S
OF L} OFE A} 2 BHtg ST ] =
237 EAA FE R 6 JEi= — =4
e 09:15~09:27 308 S oregle H top10 7 AE%
REREI sl ! 71Z OtE A
ngs! = —
3371 | 09:30-09:42 EE — RS T 6 HH=
X =& =cl= =0
Of3j|Lt OFEAMA |S& PTINES S top10
477 I|= OFE AL SAte
S 09:45~09:57 30[H2 - — O ofcalc 5
REE 6 BEH® YR of2|Lt OtE2|E
547 SHEF top10 =
S 10:00~10:12 1 A=A © top e R 5 X|Ci=
OF [} OFE A7 _I;:xIEH—:L T oLt OtEz| =
A3
647| 10:15~10:27 EREE ksl a=y-lj=4 & o=el 7 F =2
R 5 Xt - *IEXP_ 7| = OFEAHA
Oofgy| L] = =
727! 10:30~10:42 2 9itg] et 022l = Ot Lt OFEAFA 6 Bel=
4 X|CH2 — SHCH
2 o8 =2 = nES] ul il_ 30|HL &< top10
827 10:45~10:57 5 X[Cf2 _ J—EE oA A2t 7ASH
e TI=E= S ;*l%@ TA= 7| = OFEALA
= .
9387l 11:00~11:12 EES |2 OFE A RESE=EE 6 BE=
Otaj|Lt OFEAFA 30182 > HIArs — et top10
1047 — X Mzl At TS
37 11:15~11:27 2 HEALE| M EEL 0" ofcelc 6 JE=
=R ?;O'xé-?- SN B top10
— A Al [
13l 11:30~11:42 TAER a8 d2ut RS EE
ofz|Lf ofE 5 X|tH= — 7= OFE A7
f OFEAHA
— of|Lf OfEZ|E
271 SFAL
=1 Al7
1237 11:50~12:05 ASH 7:1 o A ZH
ESE
AAHAl Ol %
1337 12:15~12:27 1453 °_',T gHl Nz
2 d=%
g =Zay o T
d= =™ EE
2 X My 20 =T —
Wl | 12301242 3 gHE Tk OFRilLt ~ET 7 433
P I_E;' — = e 3
o et eleven H:‘M‘:—l 5 HMEfS J= SI0|E
s
15271 12:45~12:57 1453 michl 3t top of EO| el
= =4 ;2 2 e Ot L} AEHE
= =1 O & LT -
16371 | 1300-1312 3 HEls °6“Oit°|5 RERTELT > BH=
— =) =3° Lt A
2 A eleven of2 LI ~5 4 23| ot top of &0
17371 13:115~13:27 1453 |Ht—Ef5 v 5 HEfS
AFs o — =
o= =y 4 9hAtg PRI 5t top of ®E0|
1847| _ HEAFD) aTT T
S 13:30~13:42 3 FEfj= 5;‘—* FER L ED 7 4353
= ENsS =3 o 5
N A eleven oo = Hs:_\ 12423 Q& $io|E
19871 13:45~13:57 28ES d top of %50l EEREEN 6082
ETNES = =5
JnESIPYHIELD 4H:'AJT| 35 JEENSES
: k=1 =
2087 14:00~14:12 5 JEjS il ST eleven 7883
St top of =E 7 859 TS A= FI0|E
2147 d top of %=0| Q= o0|E 4 9rtel =
47| 14:15~1427 1453 == B ool
] ~u3c+OEH2 S Of2f|Lt AEFE
% =
2237 14:30~14:42 == << eleven 5 MAEY 60/E2
MES —o
FERLED ‘H3q° = Ty ofz|Lt ~Ef=
% il
2337 14:45~14:57 1259 A eleven TV 7 453
e =2 dEl= A= 50| E
— 3} top of R0
A SHAF
oo Al7
2447| 15:05~15:17 daH 7:'\;1— |zt
=20 -
P
2537 15:40~16: EIEPS = Bl A1zt
16:10 = =
e NEES Vs i i 3 HES
— CHA AH HEf=
2637 16:15~16:45 1dES 18 GH=Y & special 4 5=d
11X S|02= Vs 3 gH= 2 BHALS| OFXH HE
— sHCH =
2787 16:50~17:20 'FIE=S A special R 4 H2H
11X S|02= Vs 4529 2 H}M,§7|o OFAHA I E
24 — O} kA THE i —
2837 17: 25~17:55 Z5H e s CHE Mm 2% JERE
Z25H =S SHCF
vs s 3497 A special
491
3491




